BEH255E HE-FAEBKAICKIILMBREEEE (R -E01)

<{ZE/N\BAEAR (5/8~5/30) >

<{ZFEARHARSN >
HiE 4/30(:K) 7/23(K)
R PZAVS =K =R
Sl e
HLE 1= R Hh &7
B PR 4-5B5(R 4-5B5R
BE 1319 1319

B8 5/6(8) 5/8(7K) 5/9(XK)

R ZAYS =R =R
was o
HL4E 2 fslE JEIERE &I

R 3R 3-AB5[R
HE 1316 1315
A8 5/13(A) | 5/15(K) 5/16(K)
P ZAV.3 =R
- 22 _
AL TR AVES
FFER 28R
B=E 3306
A8 5/20(A) | 5/22(K) 5/23(K)
FrUNR =R N =R
wae g | [
H4E FEH1EE x5 &= &4
R AR 265 R 4RF[R 3-4BF[R
B=E 3306 2321 1315
BiE 5/27(R) | 5/28(K) 5/30(K)
AV =R L&
HES |EEmmuse T?Efj posicd
HLE HHfEF 8 &=
FFER 28R 4R5[R
H=E 4101 2321

X EEHORRARETIHYEREA,




BEH255E HE-FAEBK/ICKIILEBREEEE (R -€02)

<$EBX/EHIRE (6/3~6/28) > <EBZEXEFHARSN >
B2 6/3(A) 6/4(N) 6/5(7K) 6/6(K) 6/7(%) Bi2 8/26(8)
XA =R Iy} =R Iy} =R ER N R OZAYS =R
HEA |LEEERE BAEXC EREmHe| waEEn | Toil | gy | ZRXEE D nps %ggléa
H4E HH/F INIMEE T EmENST A £ FLEHE KREHEI FRHRT HHE VINITR-=F ]
EFAR 265 R 3BFR 4B%[R 265 R 4B%[R 5B R 1850R B IR 1-26% (R
HE 4101 1275 4208 2236 2313 2201 1823 H=E 4301
=k 6/10(A) 6/11(K) 6/12(5K) 6/13(K) 6/14(%)
LAY =R iy Iy =K Iy =K ER /N
#Eg |RRERET AREXIER| guwmn |Bamene| wangn | TREET | gy | TAIEH
HEE EILEE INIERE b HERT T ENENST A £ LR KEIER FREL
FF PR 185 R 3EFR 265 R ABFRR 265 R ABFRR 5EFIR 185RR
H=E 1316 1275 2317 4208 2236 2313 2201 1823
HiE 6/17(R) 6/18(K) 6/19(K) 6/20(XK) 6/21 (%)
 RZAY =R =R Ty LE =R LE EIR Iy
HE4 | mupms |DOAPET | ARBTER| gupmpn |BEEEER wumen my | e
HLE EHREETF EBIDEE INIEES #b MERT JEITEHE A = KREHEIX FREL
FF AR 5EFFR 185 R 3EFMR 28R 3EFAR 28R 5EFRR 185 R
H=E 1101 1316 1275 2317 1316 2236 2201 1823
SF ;3 6/24(R) 6/25(K) 6/26(K) 6/27(XK) 6/28(s&)
FroRR =R L& LE LE ER /N
HMES | mHrER AAREER)| mummn M my | SATEE
BHEE EHBEF INIEE #h MERT A = KERER FRRL
FFIR 5B R 3EFR 265 R 285 R 5B R 1850R
HE 1101 1275 2317 2236 2201 1823




